Efficiency vs dr

0.5

efficiency vs AR
=}
D

—=— DOQM_\V0001_RO00000001__Global _cmssw__RECO
L1 —— DQM_v0001_R000000001_Global__mkFitOriginal_ RECO

—— DQM_V0001_R000000001__Global__mkFitNewALL__RECO

107 1072 10 1
TP min AR

0.5

, Jet

P
©
>
a1

°
»

0.35 PO IR L L

o
w

0.25 PO IR L L

etticiency vs AR(T

I
[N

0.15 Pedeb L -

0.05 P bR e

=

1073 10_2 ] 1 -1
AR(TP, jet)

Efficiency vs pu

0.5

> = . T
o E :
g0.455— """ A S
O R e S
[ o
VKl TR ST ST NS I S
= o
@ e L S L SRR
0.25F-ofebeprereedensenenbnnn b b
0.2F -+ T by
T R STSIN S
0,1;— ------ Beeeen H b P LRI
O S e SRRt
@ r i s
o L g 9
-+ T

0.95
2

(=]




	Contents
	Page 1


